A2

A ALK B’ F
T e ks
- o (BUAZ) 4,727,800
I N EI)‘h =
K5 RV T 8515 IR R -
(BiaA #)
T =4 | bEsE (51 E) TF
AL LL g (A 4,298,000
AFLH A SH54E4H 28 H (42)
NHLE Bz s ARG ] BEATR A% -
e HER
MNALIRERE 3,400,000 H 5 34 2 B 340,000
FATAE: ¥ = 4 25 10m] #52[a] R[] k=
O |HEHExE) 3,560,000
@RELE R 4,298,000
(B%) BH %55 3,959,000
O | (BR) WA dtex 4,210,000
O |HH T (BR) 3,400,000 L
wmHl AN L w4 ¥ OF 5% A Loz m F 5%




A2

A ALK B’ F
T e ks
. e (BAT) 3,934,700H
THES R6{EX T ER2 5 TR -
(BiaA #)
T =4 | bEeE (552s) T8
AL Er i (i A% 3,577,000
AFLH A SH54E4H 28 H (42)
NHLE Bz s ARG ] BEATR A% -
e THE R Y
ANFLIEFE 2,960,000 H 5 34 2 B 296,000
FATAE: Epl 25 10m] #52[a] R[] k=
O |HEHExE) 2,960,000 L
O [(MEEREHS 3,577,000
(B%) BH %55 3,511,000/
O | (BR) WA dtex 3,400,000
H 5 T HF (BR) R
WAl AN L B 4 % & 5% A Loz m F 4%




A2

A ALK B’ F
T EAmRS
THER RSWILE1 5 (Bti2.77) 05,0008
B I R A 4% B
(BiaA #)
T =4 | AT e E T 5
AL Er i (i A% 1,280,000
AFLH A SH54E4H 28 H (42)
NFLEE PL i i ARGl PR AT A -
i THE R Y
ANFLIEFE 990,000 M 528 B 99,0001
FATAE: ¥ = 4 25 10m] #52[a] R[] k=
O |FBILEL 1,100,000
O | HEBERLE R rhirE LT 1,093,000/
e/ ET 990,000 V&AL
WAl AN L B 4 % & 3% A K B & 3%




